EIK]

Laser Projector
Service Manual

Model: EK-700LU~series




Content

(©70] 01 =] o1 S SP 2
Safety instruction ..o 3
Safety Cautions..........ooooeiiiiiiiiiieeeeee 4
Safety precautions..........coooeeiiiiiiiinieiieeeeeeeeee 8
Circuit protection.........cooooeeiiiieicceeeeee 9
How to replace the fuse......cccccooeivviiiiiiiiieeinnnnnnn. 9
SpecCification.......cuuueiiiiiiiee 10
Specification ..o 10
Indicator status ........eeuveeiiiieeiiiieieeeeeeeeeee, 11
MaintainanCe ........uueeeiiiiiee e 14
Cleaning the Filter.........coooiiiiiiiiiiieiieeeeeeeeeee 14
Cleaning the Lens .........coooeeiiiiniiiiiiieeeeeeeeee 16
Cleaning the Cabinet ... 16
How to check the light source usage time........ 17
Safety function instruction .............ccccciiiiiieeennen. 18
Standby mode instruction...........cccccciviiiiieeeeennnn. 19
Mechanical disassembly ........ccceevveiiiiiiiiiiiiiieenens 20
Adjustment ... 27
Service adjustment menu operation................. 27
Adjustment after replacement parts ............... 28
Electric adjustment............oooooiiii 29
Chassis block diagram..........ccooeiiiiniiriieiieeeeeeenn. 32
Block diagram........ccoeuviiiiiiiiiiiie e 32
Fan control diagram.........cccocoeiieeeeeeeiinieiine 33
Trouble shooting.........ueviiiiiiiiiiii e 34
Light indicator and projector status.................. 34
NO POWEN ...ttt e e e e anaas 37
Power on abnormal..........cccooooiiiiiiiiiiiii. 38
Image display abnormal...........cccoovveiiiiiiniieennnne. 39
NO SOUN ... e 40
Parts location diagram ............eeeeeeeeeiiiiiiiiiinnnnennn. 43
PCB diagram .......cccoocieiiiiiiieeeieeeeeeeeeee e 47



Safety instruction

Technicians need to read and follow the "safety precautions" and "important safety tips" strictly in the service

manual in the maintenance process.
A Caution

The service manual is only for experienced technicians, rather than the general public.

The service manual does not include the warning about the non-technicians or to inform the danger they may
occur in the maintenance process.

When the product is powered on, it can only be repaired or processed by experienced professional
technicians. Any other person who attempts to repair or repair the products involved in the service manual
may result in serious injury or even death.

Lead-free solder (Pb Free)

The projector uses the PCB board of lead-free solder.

Please use the PCB board of lead-free solder to prevent the harm to the global environment.
Notes

e | ead-free solder: The Sn-Ag-Cu (tin - Silver - copper) is with a higher melting point (about 217 C ) than the
standard solder. in general, the melting point will be 30 C to 40 C higher. And you should select the soldering
iron with temperature limit, and the temperature may reach 37C +10C .

e Lead-free solder precations: The Sn-Ag-Cu lead-free solder (SN Ag Cu) will splash when it is heated to high
temperature (at about 600 C or higher).

e The PCB board about our product are all lead-free solder. When it is necessary to use leaded solder, please
make sure to remove the lead-free solder before, or ensure that the lead-free solder will be heated to
completely melt, and then coate with leaded solder.

e Please check whether there is excess solder material on the components' surface which may flow to the other
side after welding PCB board into a double layer.

Identification of PCB board for lead-free soldering materials
The logo just as shown in the figure below will be engraved or printed on the PCB board' surface or back when us-

ing the lead-free soldering materials.




Safety instruction

Safety Cautions

Precautions
Please read this manual carefully before using your NEC projector and keep the manual handy for future reference.

A Caution Ignoring messages indicated by this symbol may lead to personal injuries or deaths due to
human errors.

A Note Ignoring messages indicated by this symbol may lead to personal injuries or property damage.

A High voltage inside with risks of electric shock.

When turning on the projector, make sure no one is facing the lens within laser range.
Do not peep at the lens when the projector is activated to avoid serious injury to the eyes.

' G — Never place goods in the projection window while working as it may overheat,burn or even catch
fire.Press the Blank button through the remote controller for temporarily pause the projection.

DANGER

CLASS 4 LASER RADIATION WHEN OPEN THE PARTS WITH LEFT MARK.
AVOID EYE OR SKIN EXPOSURE TO DIRECT OR SCATTERED RADIATION.
DANGER DO NOT DISASSEMBLE the Engine Module which is located the danger label as shown below.

(g

y %
ek
EORTOHZBREMINT L. 75X 4DL—FREIHES
E—LPHELKXDBRIEEMNDORIE  ISBFZT &

DANGER | | oancer:

CLASS 4 LASER RADIATION WHEN OPEN THE PARTS WITH LEFT MARK
E]E AVOID EYE OR SKIN EXPOSURE TO DIRECT OR SCATTERED RADIATION




Safety instruction

PROHIBIT
About the projector’s light source
— Do not look into the projector’s lens.
Strong light that could damage your eyes is projected when the projector is operating. Be especially careful
when children are around.
— Do not look at the projected light using optical devices (magnifying glasses, reflectors, etc.). Doing so
could result in vision impairment.
— Check that there is no one looking at the lens within the projection range before turning on the projector.
— Do not allow children to operate the projector alone. When a child is operating the projector an adult
should always be present and watch the child carefully.
—The below pictogram, that is indicated near the lens on the cabinet, describes this projector is categorized
in the risk group 2 of IEC 62471-5:2015. As with any bright light source, do not stare into the beam, RG2
IEC 62471-5:2015.

A Caution A

Danger of electric shock
DO NOT open this.

Note: DO NOT remove the casing (or back cover) as
this may result in electric shock. Users shall not execute
any maintenance work on components within your

High voltage inside with
risks of electric shock.

projector. Call qualified maintenance personnel in case Operation and maintenance
of any maintenance requirements. tips about these components.
CAUTION

To turn off main power, be sure to remove the plug from power outlet.
The power outlet socket should be installed as near to the equipment as possible, and should be easily ac-
cessible.

WARNING:

« TO PREVENT FIRE OR SHOCK, DO NOT EXPOSE THIS UNIT TO RAIN OR MOISTURE.
DO NOT USE THIS UNIT’S PLUG WITH AN EXTENSION CORD OR IN AN OUTLET UNLESS ALL THE
PRONGS CAN BE FULLY INSERTED.

Important Safeguards

These safety instructions are to ensure the long life of your projector and to prevent fire and shock. Please read them
carefully and heed all warnings.

A Installation

- Do not place the projector in the following conditions:
— on an unstable cart, stand, or table.
— near water, baths, or damp rooms.
— in direct sunlight, near heaters, or heat radiating appliances.
—in a dusty, smoky or steamy environment.
— on a sheet of paper or cloth, rugs or carpets.
« If you wish to have the projector installed on the ceiling:
— Do not attempt to install the projector yourself.



Safety instruction

— The projector must be installed by qualified technicians in order to ensure proper operation and reduce the risk  of
bodily injury.
— In addition, the ceiling must be strong enough to support the projector and the installation must be in accordance
with any local building codes.
— Please consult your dealer for more information.
» Do not install and store the projector in the below circumstances. Failure to do so may cause of malfunction.
— In powerful magnetic fields
— In corrosive gas environment
— Outdoors
« If intense light like laser beams enters from the lens, it could lead to malfunction.

CAUTION

This equipment is designed to be used in the condition of the power cord connected to earth. If the
power cord is not connected to the earth, it may cause electric shock. Please make sure the power cord
is earth ed properly.

Do not use a 2-core plug converter adapter.

NOTE
Preventive measures:

— Please make sure to set the High land off when using the projector at altitudes above 1700 meters, or it may
shorten the life of internal components or even cause functional failure.
— Please make sure to set the High land on when using the projector at altitudes above 1700 meters but below
3000 meters, or it may shorten the life of internal components or even cause functional failure.
— Never install the projector in a place higher than 3000 meters, or it may shorten the life of internal components
or even cause functional failure.
— Some more detailes about operation guidance, please refer to the projector setup menu.
— Please consult the dealer or authorized service center for preventive measures if you want to use the projector in high
altitude area.

Cable information

WARNING
e Operation of this equipment in a residential environment could cause radio interference.

* Do not cover the lens with the lens cap or equivalent while the projector is on. Doing so can lead to melting of the cap due to
the heat emitted from the light output.

» Do not place any objects, which are easily affected by heat, in front of the projection lens. Doing so could lead to the object
melting from the heat that is emitted from the light output.

AKX )

* Do not use a spray containing flammable gas to get rid of accumulated dust and dirt on the filter and the projection window. It
may cause of fire.

A Fire and Shock Precautions

- Ensure that there is sufficient ventilation and that vents are unobstructed to prevent the build-up of heat inside your
projector. Allow at least 4 inches (10 cm) of space between your projector and a wall.

» Prevent foreign objects such as paper clips and bits of paper from falling into your projector. Do not attempt to retrieve
any objects that might fall into your projector. Do not insert any metal objects such as a wire or screwdriver into your
projector. If something should fall into your projector, disconnect it immediately and have the object removed by a
qualified service personnel.

» Do not place any objects on top of the projector.

» Do not touch the power plug during a thunderstorm. Doing so can cause electrical shock or fire.

» The projector is designed to operate on a power supply of 100-240V AC 50/60 Hz. Ensure that your power supply fits
this requirement before attempting to use your projector.

» Keep any items such as magnifying glass out of the light path of the projector. The light being projected from the lens
is extensive, therefore any kind of abnormal objects that can redirect light coming out of the lens, can cause unpredict-
able outcome such as fire or injury to the eyes.

» Do not place any objects, which are easily affected by heat, in front of a projector exhaust vent.

Doing so could lead to the object melting or getting your hands burned from the heat that is emitted from the exhaust.

-6-



Safety instruction

Do not splash water over the projector. Doing so can cause electrical shock or fire. If the projector gets wet, turn off the

projector, unplug the power cord and have the projector serviced by a qualified service personnel.

Handle the power cord carefully. A damaged or frayed power cord can cause electric shock or fire.

— Do not use any power cord other than the one supplied with the projector.

— Do not bend or tug the power cord excessively.

— Do not place the power cord under the projector, or any heavy object.

— Do not cover the power cord with other soft materials such as rugs.

— Do not heat the power cord.

— Do not handle the power plug with wet hands.

Turn off the projector, unplug the power cord and have the projector serviced by a qualified service personnel under the

following conditions:

- When the power cord or plug is damaged or frayed.

- If liquid has been spilled into the projector, or if it has been exposed to rain or water.

— If the projector does not operate normally when you follow the instructions described in this user's manual.

— If the projector has been dropped or the cabinet has been damaged.

— If the projector exhibits a distinct change in performance, indicating a need for service.

Disconnect the power cord and any other cables before carrying the projector.

Turn off the projector and unplug the power cord before cleaning the cabinet.

Turn off the projector and unplug the power cord if the projector is not to be used for an extended period of time.

When using a LAN cable:

For safety, do not connect to the terminal for peripheral device wiring that might have excessive voltage.

Lens shift, focus and zoom operations.

— When shifting the lens or adjusting the focus or zoom, do so from either behind or to the side of the projector.If these
operations are performed from the front, your eyes could be exposed to strong light and get injured..

— Keep your hands away from the lens area when performing the lens shift operation. If not, your fingers could get
caught in the cap between the cabinet and the lens.



Safety instruction

Safety precautions

1.1 General policy:

— DO NOT attempt to make a circuit modification for the sake of safety for long.

— Unplug the power cord from the power outlet before removing the projector.

— Please use the random supply line correctly, and make sure that the line must be earthed.

— Use insulation transformer on the ac power cord before maintenance.

— DO NOT touch any rotating parts of the projector (cooling fan, etc.) when the lid is removed and the power is
powered on.

— Please pay attention to the original layout of the wire in the maintenance process. Once there is a short circuit,
please replace all the pin the maintenance processarts that are overheated and damaged due to short circuit.

— Make sure to install the protective devices, such as: insulation barrier, insulation paper, screen and insulation R-C
connection, etc. after the maintenance is completed.

— Please check for the leakage after the maintenance is completed to prevent customers from electric shock.

1.2 Leakage check:

1. Be ready to measure circuit in figure 1 below.
Make sure your voltmeter are of the same properties as described in table 1.

. Connect the circuit as figure 2 shows. Plug the power cord into an electrical outlet.

. Connect M1 to T1 as figure 2 shows, and measure the voltage.

. Connect M1 to T2, and measure the voltage again.

. The read value of the voltmeter in step 4 must be 0.375 volts or less in step 3 and 4. This means that the current
must be 0.75 mA or less.

. If the read values exceed the above criteria, the projector must be repaired and re-examination in order to
prevent the risk of electric shock before returning to the customer.

abhwN

o

M1
TOT1orT2 Isolation transformer

Irgure2 Rs: 1500 ©:0.1% Connect
Cs: 0.22 pF+1.0%
Rs JCS Rb: 500 Q+0.1% | E'E Projector
10 kQ £0.1% L
Rb 2 0.022 pE Vb & Meas_ure circuit| |
E: +1.0% T V) | (Figure 1) M2
To power outlet Figure 2
M2 Weighted leakage=Vb/500A
-
Figure 1
Property
Accuracy <2%
Voltmeter Input resistance =1MQ
(rmsvalue) Input capacitance < 200pF
Frequency range 15hz to TMHZ

Table 2



Circuit protection

The projector has the following security operation circuit protection functions. If there is any abnormal in the inside of
the projector, one of the following protection circuit action will make your projector shut down automatically .

Fuse (F0001)

The fuse is placed inside the projector and on the Power Board.

When you find the Standby (red) indicator light is off, it is highly
possible that the fuse is disconnected. Please check the power
board as follows and use the following power to replcae.

POWER BOARD PART NUMBER: 63670070

How to replace the fuse
1. The fuse is placed above the filter board. Remove the case,

the main board , AV board and speaker bracket as the steps
in "Mechanical Disassembly" .

2. Remove the fuse from the fuse holder ,then replace it with
the specified type.

%_-’

2 @@@ SIS

pRi=t=R
B

\lll[l Il Teor
] ﬁ igfool

Fuse
(FOO01)



Specification

Specification

Mechanical properties

Dimensions (WxHxD ): 405x137x358mm

Net Weight ~7.9Kg

Adjustable foot 3.5°

LCD resolution

LCD system 0.64"x3 (EK-700LUL/EK-700LU) TFT, active matrix

LCD resolution

EK-700LUL/EK-700LU (1920 x 1200)

Compatible signals

Color standard

PAL, SECAM, NTSC, NTSC4.43, PAL-M and PAL-N,PAL-60

HDTYV signal

480i, 480p, 576i, 576p, 720p, 1035i and 1080i

Scanning frequency

Horizontal frequency: 15 kHz—100 KHz; Vertical frequency: 24—85 Hz

Optical elements

Image size (diagonal lines)

30"-300", adjustable

Projection distance(mm)

EK-700LUL/EK-700LU: Wide 0.765-7.964 Tele:1.258-12.885

Lens (Standard Lens)

EK-700LUL/EK-700LU: 1.2(wide)-2.0(tele)

Light source power

EK-700LUL/EK-700LU: 105W

Terminal
VGAIN Mini D-sub 15pin x1
VGA OUT Mini D-sub 15pin x1

HDMI1 terminal

HDMI Atype 19 pin

HDMI2 terminal

HDMI Atype 19 pin

LAN 100 Base-TX (100Mbps)/10 Base-T (10Mbps), RJ45
USB-B USB connector (B type x1)

USB-A USB connector (A type x1)

RS-232 terminal D-sub 9 pin x1

AUDIO IN MINI 3.5MM STEREO X1

AUDIO OUT MINI 3.5MM STEREO X1

Power

Voltage and power consumption

AC 100-240 V (Max 4.5A), 50/60 Hz

Projection power

EK-700LUL/EK-700LU: 350W(Normal), 240W(ECO.1),220W(ECO.2)

Fuse

20A/250V

Internal speaker

16W RMS 8ohm, *1

Operating Environment

Operating temperature

0°C ~40°C (35~ ECO)

Operating humidity

20%~85%

Storage Temperature -10°C ~50°C

Storage humidity 10%-85%

High land 3000 m

Remote control

Battery AA ALKALINE TYPE x 2(not ncluding batteries)
Operating Range +15° about 6 m or about 8 m straight
Dimensions 110mm(L)X50mm(W)X20mm(H)

Net Weight 38g

Accessories

Quick Start Guide

Remote control and batteries

AC power cord (US Type x 1/ Euro Type x 1)

VGA cable

-10-




Specification

Indicator status

When the temperature inside the projector is too high or the cooling fan stops rototating or loss of power , the projector
will shut down automatically.

@ @ (O POWER indicator
@ This indicator informs the power status of the projector.

@ STATUS indicator

This indicator lights/blinks when a button is pressed while the

CONTROL PANEL LOCK function is utilized, or while performing the specific
POWER STATUS LIGHT operations.

® LIGHT indicator
This indicator informs the state of light source, usage time of the light sourceand
the status of ECO MODE.

M Indicator Message (Status message)

Check light indicator to learn status of your projector.

POWER STATUS LIGHT Projector status
|:| |:| |:| Power is off.
off off Off
i |:| |:| In the state of Standby (Standby mode is Normal standby).
Orange (Blink*2) off off
* |:| |:| Standby state (Standby mode is Network standby).
Orange (Light) Off off
' |:| |:| In the state of Standby (Standby mode is Sleep standby).
Orange (Blink*") off off
|:| i- Powered state (ECO mode:On).
Blue (Light) off Green (BIink*3)
|:| * Powered state (ECO mode:Off).
Blue (Light) Off Green (Light)
* |:| |:| In the state of Cooling.
Green (Blink*4) off off
;|é |:| |:| In the state of Sleep.
Green (Light) off off

*1 Repetition to light on for 1.5 seconds / off for 1.5 seconds

*2 Repetition to light on for 1.5 seconds / off for 7.5 seconds

*3 Repetition to light on for 2.5 seconds / off for 0.5 seconds

*4 Repetition to light on for 0.5 seconds / off for 0.5 seconds

»  When the thermal protector is activated:
When inside temperature of the projector becomes too high or low, the POWER indicator start to red blink in a short cycle. After
this happened, the thermal protector will activate and the projector may be turned off.
In this case, please take the below measures:
- Pull out the power plug from the wall inlet.
- Place the projector in cool place if it has been placed in high ambient temperature.
- Clean the exhaust vent if dust has accumulated on.
- Leave the projector for about one hour until inside temperature gets lower.

-11-



Specification

Indicator Message (Error message)

POWER STATUS LIGHT Projector status Procedure
|:| * |:| A button has been pressed while the KEY LOCK is | The projector's keys are locked. The
activated. setting must be canceled to operate the
off Orange (Light) off projector.

ID numbers for the projector and the remote con-
trol do not match.

Check the control IDs

Wl
Iy I
0. .

.

e

When LD-driver current value is too low

Please check the LD-driver board.

Red (Blink*4) Green (Light) Red (Light)
‘t ‘t ;IE When LD-driver SPI commumication error Please check the main board and power board.
Red Blink*4) | Green (Blink*4) |  Red (Light)
.’ e When LD-driver 55V error Please check the LD-driver board and power
4 | Xk | FE board
Red (Blink*) | Green (Lighty | Red (Blink*4)
‘t ‘t ;IE When LD-driver 13V error Please check the main board and LD-driver board.
Red Blink*4) | Green (Blink*") |  Red (Light)
..‘t. ;IE -.‘t- When LD-driver output current is abnormal Please check the LD-driver board.
Red (Blink*4) | Green (Lighty | Red (Blink*")
..‘t. -.{- ;IE When LD-driver is not ready Please check the main board and power board.
Red (Blink*4) | Green (Blink*3) |  Red (Light)
-,.t- EIE -,‘t- When LD-driver error Please check the main board and LD-driver board.
Red (Blink*¥) | Green (Lighty | Red (Blink*3)
. m.’ Dy When Laser Cover switch Error Please check the main board and LD-driver
-+ | ¥ | & board.
Red Blink*4) | Green Blink*3) | Red (Blink*3)
el When Temperature status is error Ambient temperature is out of the operation tem-
o, perature. Check if any obstruction stays near the
Red (Blink*4) Off Off exhaust vent.
* * |:| When Fan-1status is error Please check the Fan-1 connection line and FAN
1.
Red (Light) Orange (Light) Off
* _'_ |:| When Fan-2 status is error Please check the Fan-2 connection line and FAN
2.
Red (Light) off
* _'_ When Fan-3 status is error Please check the Fan-3 connection line and FAN
L. 3.
Red (Light) Orange
(Blink*4)
* _'_ |:| When Fan-4 status is error Please check the Fan-4 connection line and FAN
e, 4.
Red (Light) Orange Off
(Blink*1)
* |:| When Fan-5 status is error Please check the Fan-5 connection line and FAN
5.
Red (Light) off Orange
(Blink*1)
* _'_ |:| When Fan-6 status is error Please check the Fan-6 connection line and FAN
L. 6.
Red (Light) Orange Off
(Blink*3)
* .:-‘t:. |:| When power status is error Please check the main board and power board.
Red (Light) Red (Blink*4) Off
-:: . -::-t:~ |:| When phosphor wheel status is error Check the main board and LCD -driver
Red BlinkY) | Red (Blink*4) off board.
I Filter over time Waring Please clean up the filter and set filter counter
* '::t:' |:| reset. (— Page 14)
Red (Light) Red (Blink*3) off

-12-




Specification

*1 Repetition to light on for 1.5 seconds / off for 1.5 seconds

*2 Repetition to light on for 1.5 seconds / off for 7.5 seconds

*3 Repetition to light on for 2.5 seconds / off for 0.5 seconds

*4 Repetition to light on for 0.5 seconds / off for 0.5 seconds

* When the thermal protector is activated:
When inside temperature of the projector becomes too high or low, the POWER indicator start to red blink in a short cycle. After
this happened, the thermal protector will activate and the projector may be turned off.
In this case, please take the below measures:
- Pull out the power plug from the wall inlet.
- Place the projector in cool place if it has been placed in high ambient temperature.
- Clean the exhaust vent if dust has accumulated on.
- Leave the projector for about one hour until inside temperature gets lower.

13-



Maintainance

This section describes the simple maintenance procedures you should follow to clean the filter, the lens, the cabinet, and to
replace the light source and the filter.

Cleaning the Filter

The air-filter sponge keeps dust and dirt from getting inside the projector and should be frequently cleaned. If the filter is
dirty or clogged, your projector may overheat.

/\ WARNING
» Please do not use a spray containing flammable gas to remove dust attached to the filter, etc. Doing so may result in fires.

NOTE: The message for filter cleaning will be displayed for one minute after the projector is turned on or off. When the
message is displayed, clean the filter. The time to clean the filter is set to [10000 H] at time of shipment.
To cancel the message, press any button on the projector cabinet or the remote control.

To clean the filter, detach the filter unit and the filter cover.

A\ cAuTION

» Before cleaning the filter, turn off the projector, disconnect the power cord and then allow the cabinet to cool. Failure to do so
can result in electric shock or burn injuries.

1. Push button to release the filter unit and pull it out.

ez Button
Button

2. Remove the filter.
* Remove the filter from the filter cover.

3. Remove dust from the filter and the filter cover.
* Clean both outside and inside.

NOTE:

* Whenever you dust the filter, use the soft brush attach-
ment to dust. This is to avoid damage to the filter.

» Do not wash the filter with water. Doing so can result in
filter clogging.

Filter cover

|
Filter

-14-



Maintainance

4. Attach the filter to the filter cover.

NOTE:

* When installing the filter, please make sure that the
catch of the filter is facing outwards, otherwise the in-
stallation is reversed.

5. Put the filter cover back to the projector cabinet. Catch
Insert the three catches of the tip of the filter cover into the / )
groove of the cabinet, and then push the A button to close the
filter cover.

* Push the filter cover until it clicks into place.

NOTE:

« After installing the filter cover to the cabinet, please
press the left and right ends (B) of the filter cover
manually to ensure that it is fully installed.

6. Clear the filter usage hours.

Plug the power cord into the wall outlet, and then turn on the
projector.

Plug the power cord into the wall outlet, and then turn on the
projector.

From the menu, select [Filter] — [Filter counter reset].

The interval time to clean the filter is set to [1000H] at time of
shipment. When using the projector as it is, you do not clear the
filter usage.

-15-




Maintainance

Cleaning the Lens

» Turn off the projector before cleaning.

» The projector has a plastic lens. Use a commercially available plastic lens cleaner.

» Do not scratch or mar the lens surface as a plastic lens is easily scratched.

* Never use alcohol or glass lens cleaner as doing so will cause damage to the plastic lens surface.

/\ WARNING
» Please do not use a spray containing flammable gas to remove dust attached to the lens, etc. Doing so may result in fires.

Cleaning the Cabinet

Turn off the projector, and unplug the projector before cleaning.

» Use a dry soft cloth to wipe dust off the cabinet.
If heavily soiled, use a mild detergent.

* Never use strong detergents or solvents such as alcohol or thinner.

*  When cleaning the vents or the speaker using a vacuum cleaner, do not force the brush of the vacuum cleaner into the slits of the
cabinet.

Vacuum the dust off the vents.

Clogged vents may cause a rise in the internal temperature of the projector, resulting in malfunction.
» Do not scratch or hit the cabinet with your fingers or any hard objects.
Contact your dealer for cleaning the inside of the projector.

NOTE: Do not apply volatile agent such as insecticide on the cabinet, the lens, or the screen. Do not leave a rubber or vinyl product in
prolonged contact with it. Otherwise the surface finish will be deteriorated or the coating may be stripped off.

-16-



Maintainance

How to check the light source usage time

It time to replace the light source when the light source usage time (Corresponding value) come to 20,000 hours.
Use the following formula to calculate the light source time .
Light source usage time (Corresponding value)=Teco 2 +Teco 1 +Tnormal x 1.5

Tnormal : Usage time in normal mode
Teco 1 : Usage time in ECO 1 mode
Teco 2 : Usage time in ECO 2 mode

Follow steps below to check the light source usage time.
1) Press the POWER (/| button more than 20 seconds in the projector or on the remote control.
2) The projector's usage time and light source usage time will be displayed on the screen, just as follows:

Counter
Projector — The projector's usage time
Laser
Normal 2H
Eco 1 % The cumulative light source
co usage time in each mode
Eco 2 OH
Corresponding value —— The total usage time

-17-



Safety function instruction

This projector provides Closed caption, Key lock and PIN code lock ensure your projector’s operation safety. Only when
users enter the correct password can you open your projector when you has set up the three security features.You won't
start the projector without password. In case of the above issues, please reset such three security features according to
the following reset procedure, and then re-check.

Function Description

Prevent unauthorized personnel from operating your
Key lock projector.
Initial Password: 111

Prevent unauthorized personnel from changing the
PIN code lock LOGO.
Initial Password: 111

-18-



Standby mode instruction

The projector has two kinds of standby mode, namely Eco.mode and the Normal mode. In the two mode, the following
functions will be limited as shown in the table. Please switch to Standby mode on the Setting menu.

Sleep ........ Although the power consumption on this mode is higher than on the [Network standby] mode, this mode
spends less time to turn on the projector from standby condition via LAN compared to the [Network
standby] mode.

To control the projector by using our application software NaViSet Administrator 2, select the [Sleep]
mode.

Network standby......Although the power consumption on this mode is higher than on the [Normal] mode, this mode
allows you to turn on the projector from standby condition by using the Wake on LAN feature
(hereafter referred to as WolL) via LAN.

Consult your network administrator for more information about WoL.

Normal......Although the power consumption on this mode is lower than on the [Network standby] or [Sleep] mode,
when this mode is selected, only the POWER button on the top control panel or the remote control will
work.

Once you select the sleep mode, some function will be limited.

Limited functions in standby mode

Function Normal Network mode
Sleep mode

Serial control \/*1 \/*1 \/*1

Network --- v ---

Monitor output --- - -

Audio output --- - -

Auto startup v v v

*1 :Only be effective when plugged into power.

-19-



Mechanical disassembly

Remove the mechanical groups according to the following procedure.

The following steps are the basic processes and some unnecessary
steps may be ignored.

Note:
Please return parts and screws where it belongs, as it may
influence the projector's performance and security.

Screw Description
(Type D xL) mm

Tapping screw-T | Mechanical screw-M

1.Top cover, key pad and filter disassembly

2. Terminal / Main board components disassembly

3. Power box disassembly

4. Laser light source disassembly

5. Optical engine component disassembly

6. Air duct of LCD panel disassembly

7. LCD panel fan disassembly

8. Laser driver board disassembly

-20-



Mechanical disassembly

1. Top cover, key pad and filter disassembly

1. Remove 8 screws A (M3X8), then take out the top cover.
2. Remove 1 screws B (M3X8), and take out the filter and air intake.

3. Rotate the lens cover and take out directly.
4. Remove 4 screws F (M2.5X6), and take out the keypad, LED light pipe and the front remote window.

Ay A A

T

Bottom cover

Air intake grill

Top cover

Key pad LED light pipe

(&———————— Front remote window

B sk,

]
49978 10009 28 macecs

-21-



Mechanical disassembly

2. Terminal, main board and LCD board disassembly

Only for model w/o HDBaseT function

1. Remove 1 screw A (M3X8) and 3 screws B (M3X8), then take out the terminal board cover.
2. Remove 2 screws C (M3X6) and 6 screws D (M3X7), then take out the main board.

3. Remove 4 screw C (M3X6), then take out the LCD board.

4. Remove 3 screw A (M3X8), and 1 screw C (M3X6), then take out the terminal sheet metal.
5. Remove 1 screw B (M3X8), then take out the rear remote panel board.

c c 'C c
1 c§

LCD board
Main board

Terminal sheet metal

@— Rear remote panel board

p
B

Model for HDBaseT function

. Remove 1 screw A (M3X8) and 3 screws B (M3X8), then take out the terminal board cover.
. Remove 2 screws C (M3X6) and 6 screws D (M3X7), then take out the main board.

. Remove 4 screw C (M3X6), then take out the LCD board.

. Remove 3 screw C (M3X6), then take out the HDBaseT board.

. Remove 3 screw A (M3X8), and 1 screw C (M3X6), then take out the terminal sheet metal.
. Remove 1 screw B (M3X8), then take out the rear remote panel board.

o b WN -~

-22-



Mechanical disassembly

5

—— LCD board
Main board

HDBaseT board

—— Terminal sheet metal

@— Rear remote panel board

J
B

3. Power box disassembly

1. Remove 3 screws B (M3X8), then take out the Wire bracket.

2. Remove 3 screws C (M3X6), then take out the power shielding bracket for exhausting air and the fan.
3. Remove 5 screws A (M3X8), then take out the power box.

4. Remove 1 screws C (M3X6), then take out the fluorescent wheel adapter board.

B
B B?C
@—— Fluorescent wheel adapter board
éﬁs— Wire bracket
c.cC
Power shielding bracket S,
for exhausting air
AA
NN

Power box component ————=

Exhausting fan
for power box

-23-



Mechanical disassembly

4. Laser light source disassembly

1. Remove 4 screws A (M3X8) , then take out the light source radiator plastic cover and the exhausting fan for the light
source radiator.

2. Remove 1 screw A (M3X8), and 4 screws B (M3X6) , then take out the laser light source component.
3. Remove 1 screw A (M3X8), then take out the LED and front remote panel board.

Arv

%0—— Front remote shield metal

A Q%"”A— LED and front remote board
AT 1 A
7 | i

Light source radiator cover

Exhausting fan for light
source radiator

Exhausting fan for light
source channel

Laser light source component

5. Optical engine component disassembly

1. Remove 3 screws A (M3X8) , then take out the lens bracket-Top.
2. Remove 2 screws A (M3X8), and 2 screws B (M3X8) , then take out OPT lens component.
3. Remove 3 screw A (M3X8), , and 4 screws B (M3X8) , then take out the light source channel component.

A

Lens bracket-Top

OPT lens component

Light source channel component




Mechanical disassembly

6. Air duct of LCD panel disassembly

1. Remove 2 screws A (M3X8), then take out the the lens bracket-Bottom.
2. Remove 12 screws A (M3X8), then take out the the top LCD air duct, bottom LCD air duct and the LCD fan.
A

A

Lens bracket-Bottom

Bottom LCD air duct

Bottom cover

7. LCD panel fan disassembly

1. Remove 1 screws A (M3X8), then take out the the bottom lens bracket.

2. Remove 4 screws A (M3X8), then take out the R/B LCD panel fan and the PSB cooling fan.
3. Remove 2 screws E (M3X45), then take out the R/G LCD fan.

4. Remove 3 screws A (M3X8), then take out the fan switching board, Temp A and Temp B.

Bottom LCD duct

R/B LCD panel fan

PSB cooling fan
R/B LCD panel fan

Temp B

Temp A

Fan switching board w

Top LCD duct




Mechanical disassembly

8. Laser driver board disassembly

1. Remove 6 screws A (M3X6) ,then take out the back cover of the power box and the power board.
2. Remove 4 screws B (M3X6) , then take out the laser driver board.

A > A s A

®

e A
e A

Back cover of the power box

x ,,,,, R S : = ) Power board
L ! [RN " .

Laser driver board

Front cover of the power box

-26-



Adjustment

Service adjustment menu operation

1) Enter service mode

Press the Menu and V¥ button for more than 3 seconds. Then the serice mode menu will display to enter to the serice
mode showenas follows.

Service Mode

| ¢ c tor 1 Group NO.
npu omputer ltemn NO.
Group Noi Data

220 0 0«——— Value

Ver. 1.00

Firmware version

2) Adjust the data on the service mode
Press the Menu button to adjust the items , Press A or ¥button to change the value.

v Note:
You can refer to the Service adjustment data table for detailed description about the grpou,item and value.

3) Exit service mode
Press the O/ lbutton to exit serice mode.

-27-



Adjustment

Adjustment after replacement parts

o : Adjustmen Q: Check

Remove / Replace parts
LCD/ | Condenser Polarizing POWER| MAIN | AV
Prism | lens(OUT) R G B board | board | board
Optlcal Optical center adjustment Q °
adjustment
Check and set the screen type Q °
Anti-voltage adjustment °
Keystone adjustment °
EEPROM data transmission * 1 Q °
EDID data transmission o °
v Note:

* 1 When adjusting the EEPROM data transmission, the following data will be transferred from the original data to
the new board:

- Service adjustment data (fan voltage regulator / flicker frequency adjustment)

- Uneven color correction data

- Gamma correction data

-28-




Electric adjustment

v Note:

The circuit has been accurately adjusted at the factory. DO NOT attempt to adjust the following circuit as it
may cause serious damage to property and product safety unless you have to adjust it during maintenance.
Before adjustment, please turn on the projector to preheat at least 10 minutes.

1. ADC adjustment

Input signal

Computer Signal......... 0.7Vp-p/75 Terminal (XGA16 Gray Scale Mode Diagram)
Component Video Signal....1.0Vp-p/75 Terminal (Component Video Signal) (480i 100% Color Bar)

Input signal type

VGA Signal Source Input
1. When choosing VGA channel, input 16 gray scale pattern.

2. Enter the service mode, select group 260, item 0, change the setting value from "0" to "1";
3. When OK appears, the adjustment ends.

16 Gray Scale Pattern Diagram

White 100% White 0%

Component Video Signal Source Input

1. When choosing COMPONENT channel, enter 8-color 100% color bar map;

2. Enter the service mode, select group 260, item 0, change the setting value from "0" to "1";
3. When OK appears, the adjustment ends.

* The above adjustments should be made when replacing the motherboard.

8-colour 100% color bars

w 'y C G M B BK
3 t
White 100% White 0%

Note:
* Refer to "Service adjustment menu operation" for entering service mode and adjust the service data.

-20-



Electric adjustment

2. Screen type checking and setting

* Before setting up, you need to check the type of LCD screen used by the projector according to the section "LCD
Screen/Prism Component Disassembly" in "Optical Component Disassembly".

1. Enter the service mode.
2. LCD Screen Type Check

Select group 290, item 0, and check the values as follows.

Number "0": L-type LCD screen

Number "20": R LCD screen

If the type of LCD screen installed is different from the display mode set, do the following steps.

3. LCD screen type mode setting

Select group 290, item 1, and set the value from "10 to 0 or 20" according to the LCD screen type. When the
value reaches 0 or 20, it will quickly return to 10.

* The above adjustments should be made when replacing the optical components or motherboard.

3. Pole Voltage Adjustment

1. Enter the service mode.
2. Select Group 30 and change the data values according to the following instructions. Through adjustment
Number to get the minimum number to make the screen flicker.

Group-item adjustment

30-3 Red Scintillation
30-4 Green scintillation
30-5 Blue Scintillation

* The above adjustments should be made when replacing the optical components or motherboard.

4. Keystone correction

Input signal no signal

1. Adjust the support to a minimum range, then place the projector horizontally and enter the service mode.

2. Select group 102, 3 items, and set values from "0 to 5".

3. Press the executive key and the Keystone correction will be turned on.

4. When finished, the "OK" information will appear on the screen.

5. Press any key on the projector or remote control and the OK information will disappear. Group 102, 3 items, the
value will return the initial value of "0".

* The above adjustments should be made when disassembling and assembling the motherboard.

5. Color correction adjustment

After replacing panel, it is necessary to use 50% or 30% gray scale images to confirm the problem of uneven color. If
partial color bias occurs, please set the corresponding service mode to 0. The operation is as follows:

Input signal 50% gray field or 30% gray field
1. Enter the service mode.
2. Select group 32, item 1, and set the value from "1" to "0".

* This operation is required when replacing the optical machine or motherboard components.

-30-



Electric adjustment

6. White Balance Adjustment

After replacing panel or motherboard, 16 gray scale is needed to confirm the color deviation of the picture. If the color
deviation of the picture occurs, please adjust the white balance manually. The operation is as follows.

input signal 16 Gray Scale Pattern Diagram
1. Enter the service mode.
2. Select Group 35 and change the data values according to the following instructions.

By adjusting the values, we can get the values that make the gray scale color normal.

Group-item adjustment

35-0 red
35-1 Green
35-2 blue
35-3 red
35-4 Green
35-5 Blue

When adjusting, please first adjust the dark level of 16 gray scale, and then adjust the bright level.
0-2 adjustments have obvious influence on dark order.
3-5 adjustments have obvious influence on the brighter order.

* The above adjustments should be made when replacing the optical components or motherboard.

-31-



Block diagram
B XGA&WXGA series

Eco |

Network [ ON_SV_VGA

Normal [ o
r
LvDSK2
3 1 4 Sony CXA3828GL forG
G S siev_ccofev_on)  S16V (16V_ON
° + »| VS /_LCD(16V_ON) (16V_ON) CXD3551GG
> PWC895 12C_PANEL forB
Topaz Enhance
R/G/B 162MHz - >
on_sv_von Memory IF
—
4k@30Hz ™DS
TMDS 300MHz Up to 300MHz 4k@30Hz
- TMDS 300MHz | [EIVII
TMDS 300MHz 12¢.0 MpIO Amf/lpluné
o sioegzn | ’ R | Ethernet 700MHz -
HDMI R— | E— ON_SV_VGA
Port Proc. Uss0 RESETZ LAMP_EN
AND GATES IC COLORWHEEL_ERR
" | swmancar
FAN_ERR Cw_PwM | COLORWHEEL
MDIO CW_FG
Flash512Mb
RMIL 12C_PANEL sw
ON_PHY
— CONECTOR
10/1008ase
Upstream ON_MCU  PFC_ON SSI_ENZ
LD BANK
)
2A supply DRIVER

LD BANK

* ussazaop | USB_SW
Eme
spl

LD BANK

MG82FG5C64 121 SR
FAN -

RTC_INT

]

Air Pressure sensor |

PT3323

B WUXGA series

Eco =

Network [ ON_5V_VGA
DDC | e
Normal [ [ooc] CXD3861GL
for R
LvDSx2
. S [ A CxD38616L
for G
g + >| Y SR siev oo(iev_oN) 16V (16V_0N) ’
N PWC895 CXD3861GL
Topaz Enhance 12C_PANEL forB
R/G/B 162MHz -
—
2k@30Hz T™DS
TMDS 300MHz Up to 300MHz 4k@30Hz
- TMDS 300MHz | LIV
TMDS 300MHz 120 MDIO Aﬁﬁrﬁm
HOMI I N
Port Proc.
UsB-0 RESETZ LAMP_EN
AND GATES IC COLORWHEEL_ERR
" EYIN SN74HC21DR
ED/IR FAN_ERR CW_PwM | COLORWHEEL
MDIO g w_FG
—> ]
Flash512Mb
MCLK
R 12C_PANEL 125 swW
ONPHY CONECTOR
10/1008ase
USB-B Upstream ON_MCU PFC_ON SSI_ENZ

For

Update
2A suppl 0 LD BANK
DRIVER
usg3zaos | USBSW
sw LD BANK
SPI

LD BANK
LD BANK

H MG82FG5C64

RTC_INT FAN

]

Air Pressure sensor |

PT3323

-32-



Chassis block diagram

Fan control diagram

FAN_12V

FG1__| EaN1

PWM1 |

FAN_12V
FG2

FAN2
PWM2

FAN_12V
FG3

FAN3
PWM3

FAN_12V

FG4

WA FAN4

$16.5V
A\ 4
FAN_EN . FRO889
1C5301
FR9889
>
1C7001
PWC895
1C2001
SCL1
MG82FG5C64
SDAL 1C5302
FAN_ERR

FAN_12V
— FANS
PWM5
FAN_12V
Foe FANG
PWM6
I

-33-




Trouble shooting

Light indicator and projector status

Light indicator indicates the projector status.

If you have met kinds of unexpected problems when you operate the projector, please do as the following table
says to check the operation of the projector. Check light indicator to learn status of your projector to ensure your
projector in the best state. Take proper maintenance measures according to the light indicator status.

H Indicator Message (Status)
Check light indicator to learn status of your projector.

POWER STATUS LIGHT Projector status
D D D Power is off.
Off Off Off
_'_ |:| D In the state of Standby (Standby mode is Normal standby).
Orange (Blink*z) Off Off
_'_ |:| D Standby state (Standby mode is Network standby).
Orange (Light) Off off
_'_ |:| D In the state of Standby (Standby mode is Sleep standby).
Orange (Blink*1) Off off
* D * Powered state (ECO mode:On).
Blue (Light) Off Green (BIink*3)
* D Powered state (ECO mode:Off).
Blue (Light) Off Green (Light)
* |:| In the state of Cooling.
Green (Blink*4) off off
* D In the state of Sleep.
Green (Light) Off Off

*1 Repetition to light on for 1.5 seconds / off for 1.5 seconds
*2 Repetition to light on for 1.5 seconds / off for 7.5 seconds
*3 Repetition to light on for 2.5 seconds / off for 0.5 seconds
*4  Repetition to light on for 0.5 seconds / off for 0.5 seconds

v Note:
- It is likely to something wrong inside the projector if the warning indicator still on or flashing after taking measures
above. Please turn off the projector, otherwise it may result in electric shock or fire.
- DO NOT turn on the projector when you have checked something abnormal. Unplug the AC power cord quickly,
insert again, then turn on the projector. If the projector is shuting down once again, that means that there is some
serious problem with it. Do not continue to operate the projector,or it may result in electric shock or fire.

-34-



Trouble shooting_;

H Indicator Message (Error message)

ID numbers for the projector and the re-
mote control do not match.

POWER STATUS LIGHT Projector status Procedure
D * D A button has been pressed while the KEY | The projector's keys are locked. The setting
LOCK is activated. must be canceled to operate the projector.
off Orange (Light) Off

Check the control IDs

*

&

When LD-driver current value is too low

Please check the LD-driver board.

Red (Bllnk*4) Green (Light) Red
{ { '-l When LD-driver SPI commumication error Please check the main board and power board.
Red (Blink*4) | Green (Light*4) Red
R B When LD-driver 55V error Please check the LD-driver board and power
- - - Please
Red (Bl|nk*4) Green (Light)y | Red (Light*4)
me L When LD-driver 13V error Please check the main board and LD-driver
F- - - Please
Red (BI|nk*4) Green (Light*1) Red (Light)
{ { 'l When LD-driver output current is abnormal | Please check the LD-driver board.
Red (Bllnk*4) Green (Light)y | Red (Light*!)
{ .:l. .'-l. When LD-driver is not ready Please check the main board and power board.
Red (Blink*4) | Green (Light) Red (Light)
e’ When LD-driver error Please check the main board and LD-driver
't "'l" board.
Red (BI|nk*4) Green (nght) Red (Light*3)
{ D |:| Temperature problem Ambient temperature is out of the operation
temperature. Check if any obstruction stays near
Red BI|nk*4) 0off Off the exhaust vent.
't .:-_t:. |:| Power problem Please check the Fan-1 connection line and FAN
.‘ 1 .
Red (Blink*4) off
i * |:| When Fan-1 status is error Please check the Fan-2 connection line and FAN
2.
Red (Light) Orange (Light) Off
{ |:| When Fan-2 status is error Please check the Fan-3 connection line and FAN
3.
Red (nght) Orange (Blink*4) off

Red (Light)

0ff

Orange (Blink*4)

When Fan-3 status is error

Please check the Fan-4 connection line and FAN
4.

:.*_:

Red (Light)

LY

Orange (Blink*1)

]

off

When Fan-4 status is error

Please check the Fan-5 connection line and FAN
5.

ll‘!

Red (nght)

0

=

X

Orange (Blink*1)

When Fan-5 status is error

Please check the Fan-6 connection line and FAN
6.

" g

.

.I.

]

When power status is error

Please check the main board and power board.

Red (nght Red (Blink*4) off
-t -:: ::~ |:| When phospher wheel status is error Check the main board and LCD -driver
Red (BI|nk*4) Red (Blink*4) off board.
B i Filter over time Waring Please clean up the filter and set filter counter
e N ':-"-:' |:| reset. (— Page 14)
Red (Light) Red (Blink*3) off

*1 Repetition to light on for 1.5 seconds / off for 1.5 seconds
*2 Repetition to light on for 1.5 seconds / off for 7.5 seconds

-35-




Trouble shooting

*3 Repetition to light on for 2.5 seconds / off for 0.5 seconds
*4 Repetition to light on for 0.5 seconds / off for 0.5 seconds
*  When the thermal protector is activated:
When inside temperature of the projector becomes too high or low, the POWER indicator start to red blink in a short cycle. After
this happened, the thermal protector will activate and the projector may be turned off.
In this case, please take the below measures:
- Pull out the power plug from the wall inlet.
- Place the projector in cool place if it has been placed in high ambient temperature.
- Clean the exhaust vent if dust has accumulated on.
- Leave the projector for about one hour until inside temperature gets lower.

-36-



Trouble shooting

No power

We can indentify the abnormal area through light indicator status.
Connect the AC power cord, press O/ lbutton to check light indicator.

- All light indicators will be Off indicates the main board abnormal. Please check the main board circuit and
component.
. Check AC power cord, F101(Fuse), Filter board, POWER substrate and the thermal switch.
. The thermal switch will be turned off when the ambient temperature of thermal switch is higher than
100°C.

-37-



Trouble shooting

Power on abnormal

Follow the steps below for check:

The POWER
indicator turns Off.

No

Y

Fail to power on;
POWER indicator
turns blue and
LIGHT indicator
turns green or
flash.

No

Y

Fail to power on;
POWER indicator
flashes red, the
STATUS indicator
turns green or flash
and the LIGHT
indicator turns red
or flash.

No
Y

Fail to power on;
POWER indicator
turns steady red,
the STATUS
indicator turns
orange or flash and
the LIGHT indicator
turns orange or
flash.

No
Y

Fail to power on;
Both POWER
indicator and
STATUS indicator
flashs red.

No
A2

Fail to power on;
POWER indicator
flashs red.

Yes Check the main board No Power abnormal
> 16V_MCU and the power. > Check Power board.
Yes
Y
) No o
Check ECO3_3V is normal »| Check IC2601 partial circuit.
Yes
Y
Update Sub CPU.
Yes | Unable to light up without error log.
1. Check whether the top cover is covered.
LD driver board abnormal
Yes 1. Check whether the LD drive current is normal
> 2. Check whether the wire connection is normal, check the terminal POLD
POPLD
Fan abnormal
Yes 1. Check whether all fan wiring is normal
> 2. Check whether the voltage of all fans is normal
3. Check whether the PWM and FG signals of all fans are right.
Fluorescent wheel is abnormal:
1. Check whether the power supply of the fluorescent wheel control IC7201/
Yes )
> IC6501 is normal
2. Check whether the fluorescent wheel drive signal R2644 and the feedback
signal R2667 are normal
Yes Temperature abnormal

Y

1. Check the projector 's temperature and whether you have already inserted
the temperature sensor line.

2. Check whether the fan is working.

3. Check whether the filter is block or not.

-38-




Trouble shooting

Image display abnormal

Check the image as the following steps.

Singal input ; but no Yes > Check signal processing and LCD drive.
image display Check the S16V power supply and peripheral device loop.
Check the connection between the main board to PANEL board.

No
VGA input; but no Yes »>| Check the lead parts from M3301 to the main chip 1C2001.
image display

No

Y

HDMI input ; but no Yes _| Check the lead parts from M3001 / M3002 / IC3001 to the main chip
image display ~| 1C2001.

-30-



Trouble shooting

No sound

Follow the steps below for check:

Check whether the pins
63/57 and 56/50 of IC
3602 have output wave-
form.

Yes

Y

No

Check whether pin 41/
44 of IC3602 has output
waveform.

No

No sound

1. Check whether the speaker line is inserted properly and whether the
speaker line is broken?

2. Make sure the speaker is damaged?

Yes
y

Check whether R3627/
R3628 of IC 3602 have
audio output.

No

Y

No sound
1. Check IC3602 and peripheral circuits.
2. Check if the power supply of L3601 reaches 14V?

Y

No sound
1. Check IC3603 and peripheral circuits.
2. Check if the AUDIO audio terminal is damaged.

-40-




Trouble shooting

Error History Log How To Reset Error Log

Please press the [OK] + [UP] keys simultaneously Group-item Value

200-50 1>0>1>2>3..>9>10
for 3 seconds

Enter the Service mode and choose Group 220 look
at the right side item "Data Code".

Press [MENU] button to select the "NO." item.

Press the [ A] button to change the number.

NO.O: the last error
NO.1: the 2nd last error
NO.2: the 3rd last error

NO.49: -the 50st last error

Please note, the Data Code only show while
the unit have detected problems as following

-41-



Trouble shooting

Value Descriptions Detail
1000 Power supply is in an abnormal state
1004 FAN 1 is abnormal
1005 FAN 2 is abnormal
1006 FAN 3 is abnormal
1007 Power supply FAN 4 is abnormal
1008 abnormal FAN 5 is abnormal
1009 FAN 6 is abnormal
1010 Fluorescence wheel is abnormal1011
1011 USB current excessive abnormal
1012 The rotating speed of the Fluorescence wheel does not match and in an abnormal state
1100 Power Management [SHUTDOWN setting
2001 Sensor A's value is abnormal (IIC)
External temperature
2000 Aerror Sensor A temperature is out of the ordinary
2201 Thermistor, Sensor C value is abnormal
Internal temperature
C error , .
2200 Sensor C's temperature is out of the normal
3002 SPI communication exception
3004 LD Voltage is abnormal (55V)
3005 Laser Driver error  [LD Voltage is abnormal (13V)
3006 Abnormal LD output current is abnormal
3007 LD Not ready (LDDriver mode setting status failed)
41%x 41xx/42xx/43xx/44xx/45xx will appear at the same time
xx is converted from decimal to binary. If the corresponding bit data is 0, it is normal and 1,
42 it is abnormal.
XX CH1(41xx)/CH2(42xx)/CH3(43xx)/CH4(44xx) error
If xx is expressed as:
43xx 0x01(Bit0) overvoltage output error
0x02(Bit1) low voltage output error
44xx 0x04(Bit2) overcurrent output error
. 0x08(Bit3) low current output error
Other anomalies . . .
about Laser Driver 0x10(Bit4) high temperature error (decimal 16)
0x20(Bit5) low temperature error (32 in decimal)
=>Two types of errors may occur at the same time, please convert to binary control <=
=>For example, if the error log is 4310, the error code is 10(0xa=1010 in hexadecimal), and
45%X bit1 and bit3 are abnormal, corresponding to output overvoltage and low current errors
Vin error(45xx)
If xx is expressed as:
0x01 overvoltage(55V) input error
0x02 low voltage (54V) input error
Abnormal setting
46xx of LD Driver mode |LD Driver Mode status setting feedback exception (XX: register return value)
status
4701 LD Driver CH1 CH1 currentis low
current error
4702 LD Driver CH2 CH2 currentis low
current error
4703 LD Driver CH3 CH3 currentis low
current error
4704  |DDriver CH4 CH4 current is low
current error
5000 High altitude error  |High altitude is abnormal

-42-




Parts location diagram

Parts location &
Mechanical components list
diagram

For detailed informatiion about part location and mechanical components list diagram.

Important safety instruction
Components identified by international symbol A identifies hold the special security features.
Please use the specified model for replacement .

Please make sure the parts list and the service code in structural parts list diagram before ordering repair parts.

-43-




Parts location diagram

Top cover & Light source component

PART NAME PART CODE
1 BTM-Case 63220219 1
2 Dust filter 63340119 1
3 Dust filter cover 63220226 1
4 Top cover_EIKI 63220218 1
5 Keypad 63730271 1
6 LED board 63730272 1
Terminal & main board component
1
2
3
INDEX PART NAME PART CODE | QTY
1 Panel board (WUXGA) 63730270 1
) Main board EK-700LUL 63730269 ]
Main board EK-700LU 63730292
3 HDBaseT board 63730329 1
4 I/O case w/o HDBaseT 63220220 1
1/0O case w/i HDBaseT 63220221 1

-44-




Parts location diagram

Power box component

PART NAME PART CODE | QTY
1 |Switch Board 63730274 1
— 2 Power board 63670070 1
63260085
3 |FANG 1
Laser light source component
Rz
INDEX PART NAME PART CODE | QTY
1 |LED board 63730272 1
2 |FAN4 63260084 1
3 |FAN5 63260086 1
4  |VELA&Taurus WUXGA_LSR 63080046 1

-45-




Parts location diagram

OPT component

PART NAME PART CODE | QTY
OPT component (WUXGA ) 63010103 1
LCD panel fan
INDEX PART NAME PART CODE QTY
1 LCD duct-Bottom TBD 1
2 FAN 1 63260087 1
3 FAN 2 63260088 1
4 FAN 3 63260089 1
5 Fan switching board 63730273 1
6 LCD duct-top TBD 1

-46-




PCB diagram

Important safety instruction
Components identified by International symbol A identifies hold the special security features.
Please use the specified model for replacement .

MLow voltage and high voltage warning
. The power supply circuit includes a circuit unit to seperate the power supply from ground.
. Circuit has two kings: high-voltage circuit and the low-voltage circuit. Please take the following precautions
against it.
. This diagram is the final version before production. Changes maybe made without notice.

M Preventive measure

. DO NOT touch the parts of high voltage area or area between low voltage and high voltage , as it may cause
risks of electric shock.

. DO NOT short circuit, high voltage and low voltage circuit, otherwise the fuse will be disconnected and damage
the components.

. DO NOT connect the parts such as an oscilloscope in the high voltage area and the low voltage area to protect
the fuse. Connecting the parts under measure from surface to the ground .

. When removing the movement, make sure to unplug the power cord from outlet.

. Please check service codes for this part in structural parts list diagram, when ordering components.

47-



PCB diagram

Main board PCB (Top)

r o

Main board PCB (Bottom)

—

Power board PCB (Bottom)

©
— ©

g

”%q;ooooo

B30I gs

sl 2228, D28 ©
© - @ﬁ"ﬁéo

joj; 00 & ﬂﬁ‘
"ﬂﬁ%ﬁ%g

RN

.. ?. !:-9

sise T II
Bisal CINg
‘ll.l= HIS2 g 5o =130

ssaresn® (0
°%° 88 g

SISAE teA
2080 0 i eoso

© 00 00 0

002 1copi K0oOe

6003 “lé:; uoor.

O

=ins

® .

. X




PCBdmgam

LED board(Top)

D5803 -+

PIFRC
O
g
g
g L
5 s 02
B P psero
Keypad
O == L)
i)
) B
) v @
e U
m@@@
B W )
O - (AE A ® - O
B
Fan switch board (Top)
C

-49-

LED board(Bottom)

N2\
23

2
2]
o
=
N2/
L2\
3E
52
2 /N\2/

=3
By

=
By
e
Ll
oo
By
Bl
©a
o
B

g
g
O

[asaes| P210 RE629 RS628

[ETETET

&[22
D232
3|58

el
&)

A
ZE
2R
o
g
e

|

=)
&
4
<3
3

o o
S S
4 2
3 3
2 2

EEERER
~ 182 KI&D
Rs804 Rsgol] Rssig

L

Fan switch board(Bottom)

L

381036002

O




PCB diag_;ram

Laser adapter board PCB (Top) Laser adapter board (Bottom)

| K I

] i
O “oomonogoonooong- ©

O

O

Panel board PCB (Top) - WXGA&XGA series Panel board PCB (Bottom) - WXGA&XGA series

2z

i i
O “ooooooogooooonng- ©

O O




